Urban Growth
[bookmark: _GoBack]Student tasks
1. Draw a bar graph to show the growth of Shenzhen:

	Year
	Population

	1950
	3,148

	1995
	2.39 million

	2000
	6.55 million

	2025
	12 million



	



2. What problem did you find drawing this graph?
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3. Use the data from the table below to answer the questions below:

	City
	Increase (in people per hour)

	Berlin
	1

	Delhi
	79

	Dhaka
	74

	Hong Kong
	4

	Istanbul
	19

	Jakarta
	27

	Johannesburg
	2

	Kinshasa
	63

	Kolkata
	32

	Lagos
	85

	London
	9

	Manila
	29

	Mexico City
	22

	Mumbai
	51

	New York
	10

	Rio de Janeiro
	10

	Sao Paulo
	18

	Shanghai
	53

	Shenzhen
	15

	Tokyo
	-1



a. Which cities are experiencing the greatest urban growth?
	
b. How does Jakarta compare with the other cities listed?    
	
c. What is happening in Tokyo?  
	
d. Does urban growth appear to be concentrated in a particular part of the world?
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